o XIAH
©H2020.11&1]

=
o

o ||

3§

HI Al

(EEE) A3

N7y w7

Gt
e
No

7.

o
T
A}

s

o] o9l =
$etez T o

O 3 X =]
T FZo] 3
—
o

Ay

el A %ol

¢}

FElvEh(d ) 9

)
=

PN
e

o #z,
Ho] A3Te] FEEE
Jetel 54

)

o] =
B B R
0

=23

3 EA §AARES B

il
| FF 5= AHECHH)

P
T UEE

51?1,
MIEE

9]

SEEET SRR ERAHE) S Aol utet a) o) e
5o 2Ag
Azl =

T T o
o .

]
&
A

O

1) 3772 eljel] e} ae)

(1) S4dxkdeo] vl

1

sko]
2 A gto
(A21%

A7
EEES)

v HdH A

g
=E%d
tel

[

2 4Z- A
=
(10%+ql o]
o2, AT5%)



(2) A7t S49 AAE

- or I

Wo Mo 7o

B oo —

255

~ —
— N
~ Mﬂuﬂ_ou
‘\w\._obo_ﬂmo
m- ol
WX
o 1y 10
Mo o] ©
Hi o T

S)

Ry

o W7 o

2] <l
x912),

ii ¢=<l
ANF dg & 3

iii A & z}e

iv &7dol&de A= (32

N

o0

X

U

Ao

‘mﬂ\l/

= o}

£ILF

o oy S

%& B

= o

TE

UT_dﬂ\/

= o A

I%&ﬂ

ﬂﬂmﬁ

ﬂlﬂoﬂA

lﬁ@ﬂ

o B 1

o —~Yr—

=R
= G)

To] ] A
(A H9ZA1

A% %
g 373

l

Z

st
= X

o
3

oﬂ
4

M wr

°©
= %

)

HEEA

WO

v 2

2 3)Diii,

(1)

, 202249 49 1<,

1A=

S

1) (2)el o

o,

o

)

4]

3)Diioll s

o]
E!

2020 124 1

14 =

S

3) @l o

mIPAPNE

[
fi%e)

=
o)

No
Hin

Bost7] flal FAdAdo]l v A

175

=z
T



o] 1

[©)

L=

A7 249 ARE

o
o
il

7

—_
110

shH 2020. 1149 9]

50710 (A 7] F A 2)

T 2710 AHtAbE 7 AT

[¢]

%

=

| dA HNAbE S

7} 117(21.6%), d&2+

E Suald Fade

o $IWkALE LA F8
H

o)

ol A

7}

mK

HA=99E 91 (176%) To%

-

7he $ldbo]l 1071(19.6%), ¥ UlAlE,
Al

3|

S
i

] 1771(33.3%),
R AL

lﬂ-o

9149)

i

k<)
pal

|

o
vl

2. 72 ZA=E fuk ALl

B

A5 okel 271, of

ApA] ¢t

=
=

23.5%

o ==
=5

o A LAY

/\g fels

=13

=

=]

7F WEdof o]o] & W

P
T

A 421,
2

12

b AHE TS

H

__‘!:_
o
- =
=
9]



3}
=

S| SN A7io] WAy

=y

=y

i

FAYE AW A

A

s
2 7ol M

B =

—
H

0]

o] w9k 27 o=

al
=

7he $IRE 14,

b 171, Aol A A

3

FOPAREAD 9

]
A

- AEHE, 22U SolA 2H7IEH

rto] 53] TAYT}

7] i H]

A4 Bl Fo7F oA Hu

)

G
G

oF

o
Him

X
<

o

245%(13

JEb=7F 9 kAl g

R

o 7

ZacaallEs

M"Y, ol e el

F, WA

FANEY B

o %

7H&<?l TBHQ7Y, 5

=
-

- 0] PEZE AfAFEoA A A

EepEglo] 7]

o A o}

=yl Aol A E

|

Tl o
=R

K

—

<X

~N
~N

)

oF

T
A

4 YEAS, ol

B



U= +QUAME 28 284
(20204 11 &)

15

10

I E s - - 1§

HES == Oj= Ej= CHEt o= e 7| Ef
% I 2AZ A= 9EiASY
<E2> =71 AE AHF LY &AM
71\_]_.?- =0k =
s | awas | awe | | ERS L gy | oase | e
Al s =
H| E = 12 24.0 2 2 4 4
= 11 220 6 1 4
o= 5 10.0 3 2
Ef = 5 10.0 1 3 1
CH 2k 5 10.0 1 4
ot 2 4.0 2
ol 2 40 1 1
7|Ef=7t 8 16.0 3 2 2 1
e Al 50 100.0 11 9 17 9 4
H| (%) 22.0 18.0 34.0 18.0 8.0

| FTA 01 Ol &&

oS 2)




